
ASSEMBLY & INSTRUCTION MANUAL

INcba199V01_UK_FR_DE_IT

921-476

IMPORTANT, RETAIN FOR FUTURE REFERENCE: READ CAREFULLY



120



120



120



120



A  1 B  1

C  1 D  1

E  1

G  5

F  1

M6*20

H  8

M6*18

K  8

M6*25

I  6

M6*14

J  6

L  1 N  1



F  1

E  1

G  5

E

F

G

H

B  1

D  1

H  4

K  4 B

D

K

M6*18

M6*20

02

01

EN: The hydraulic cylinder has a cap on the top of it that must 
       be removed prior toassembly
FR: Le cylindre hydraulique a un bouchon sur le dessus qui 
       doit être retiré avant le montage.
DE: Der Hydraulikzylinder hat auf der Oberseite eine Kappe, 
       die vor der Montage entfernt werden muss.
IT : Il cilindro idraulico e' dotato di un tappo nella parte 
       superiore che deve essere rimosso prima del montaggio.

N



M6*18

M6*20

H

I

KH 4

K 4

A 1

A

A

C

D

D

B

B

J

03

04

M6*14

M6*25

I 6

J 6

C 1



05


